ON-LINEFIG1. Instructions for making the thalamus measurements.
In an axial image containing the anterior commissure and posterior
commissure, draw line segment AB between the inferior margin of
the foramen of Monro and the velum separating the occipital horn
from the quadrigeminal plate cistern. Draw line segment CD perpen-
dicular to AB so that one end is at the junction of the thalamus and
posterior commissure and the other end is at the medial margin of the
internal capsule. Choose the perpendicular (coronal) image that in-
cludes the posterior commissure; draw line segment EF parallel to the
midline starting at the caudothalamic groove and ending at the me-
dial margin of the internal capsule. The approximate volume is
(7/6)*AB*CD*EF.
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ON-LINE FIG 2. Segmental and total brain volume, separated by genotype, for 9 of the 10 patients in the study. No difference between the
genotypes was identified; therefore, the measurements for all genotypes were combined for further analysis. (Note: One patient with a
genotype unique among this patient cohort [C451T, A364T] was imaged only once and did not return for follow-up; therefore, no curves could
be fit for this genotype.)
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